Roll No. 23256503

23-DEO-353 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025 (CBCS-CDOE)

Name : ROWAIDA SEEDIQI : MOHAMMAD SEEDIQ Father's Name

: SEHAILA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	42	30		40AG	100	А	8	04.0	32.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	45	14		40AG	100	B+	7	04.0	28.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	45	19		40AG	100	B+	7	04.0	28.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	33	14		40AG	100	С	5	04.0	20.0
5	MC-309 ADVERTISING MANAGEMENT	46	20		40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	48	21		40AG	100	А	8	04.0	32.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	172.0
									24.0	172.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256506

23-DEO-356 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : FELIX EPHARIM MUKUMBWA

: CHARLSE MUKUMBWA Father's Name : MERY MSONGOLE Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	51	26		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	58	28		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	57	26		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	57	30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	58	27		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	65	27		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	232.0
									24.0	232.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 23256507

23-DEO-357

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : KONDWANI CHEYO NYONDO

: ADAM NYONDO Father's Name

: TUNANGISYE MBUGHI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	63	29		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL	57	25		40AG	100	A+	9	04.0	36.0
	MANAGEMENT	57	26		4046	100		9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	57	20		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	63	30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	55	25		40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	228.0
									24.0	228.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 23256508

23-DEO-358 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : LIZZIE MWANDIRA : ANDREW MWANDIRA Father's Name

: JEAN MHANGO Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	49 30		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	59 29	ı	40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	59 27		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	63 30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	55 29		40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66 29	ı	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	AB AE	3 F	20AG	050	F	0	02.0	0
	TOTAL		***		0650			26.0	232.0
								24.0	232.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256509

23-DEO-359 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : RAM TAPPERWAL

: ROKNI RAM Father's Name : KALAWATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	50	28		40AG	100	A+	9	04.0	36.0
2	BUSINESS MC-302 ADVANCED FINANCIAL	48	27		40AG	100	A+	9	04.0	36.0
3	MANAGEMENT MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	56	26		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	54	29		40AG	100	A+	9	04.0	36.0
5	MC-309 ADVERTISING MANAGEMENT	51	27		40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	58	27		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	220.0
									24.0	220.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256510

23-DEO-360 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : ISHIKA GARG : ATIN GARG Father's Name : SARIKA GARG Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	51	30		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	57	29		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	62	30		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	62	25		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	40	22		40AG	100	B+	7	04.0	28.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	60	22		40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**:	*		0650			26.0	220.0
									24.0	220.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 23256511 23-DEO-361 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : SAMRIDHI GUPTA : SANJAY KUMAR Father's Name : POONAM

Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	59	29		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	60	28		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	59	28		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	61	29		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	62	29		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66	29		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	240.0
									24.0	240.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256512

23-DEO-362 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025 (CBCS-CDOE)

Name : JAIDEEP WARRIER

: CHANDRASEKHARA WARRIER S Father's Name

: JAYASREE S Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	42	12		40AG	100	В	6	04.0	24.0
	BUSINESS									
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	35	15		40AG	100	В	6	04.0	24.0
3	MC-303 SECURITY ANALYSIS &	39	17		40AG	100	B+	7	04.0	28.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	37	16		40AG	100	В	6	04.0	24.0
5	MC-309 ADVERTISING MANAGEMENT	46	20		40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	54	23		40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	168.0
									24.0	168.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 23256513

23-DEO-363 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : GARIMA NA : LOKNATH Father's Name : SUNITA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	61	30		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	53	30		40AG	100	A+	9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	53	29		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	55	29		40AG	100	A+	9	04.0	36.0
5	MC-309 ADVERTISING MANAGEMENT	54	30		40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	61	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	224.0
									24.0	224.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Regn. No.

Roll No. 23256516

23-DEO-366

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : AWDHESH YADAV : VISHWANATH YADAV Father's Name

: PRABHAWATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	51	29		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	58	28		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	59	28		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	63	29		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	58	28		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	67	29		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	236.0
									24.0	236.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Regn. No.

Roll No. 23256517

23-DEO-367

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : GARIMA JAIN JAIN : SANJAY KUMAR JAIN Father's Name

: MAMTA JAIN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	54	22		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	43	26		40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	51	25		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	54	29		40AG	100	A+	9	04.0	36.0
5	MC-309 ADVERTISING MANAGEMENT	45	24		40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	59	27		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	212.0
									24.0	212.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 23256519

23-DEO-369 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : AMRIT KOUR : INDERJEET Father's Name : AMARJEET KOUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	50	21		40AG	100	А	8	04.0	32.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	33	14		40AG	100	С	5	04.0	20.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	55	24		40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	39	17		40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	50	21		40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	51	22		40AG	100	А	8	04.0	32.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	180.0
									24.0	180.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256522

#### Regn. No. 23-DEO-372

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : SWETA KESHRI
Father's Name : NARESH KESHRI
Mother's Name : SEEMA KESHRI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	51 18		40AG	100	А	8	04.0	32.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	54 17		40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	55 14		40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	48 17		40AG	100	А	8	04.0	32.0
5	MC-309 ADVERTISING MANAGEMENT	57 13		40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66 14		40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	AB AB	F	20AG	050	F	0	02.0	0
	TOTAL	***			0650			26.0	196.0
								24.0	196.0

RESULT: RE - TILL APR- 2027 IN: OESS-15

Data of issue

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Regn. No.

Roll No. 23256524

23-DEO-374

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : MUSKAN RANI : RAJ KUMAR Father's Name : GEETA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	58	29		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	65	30		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	63	27		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	64	28		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	62	29		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66	28		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	240.0
									24.0	240.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

DATED :	JUN 12,2025		
KURUKSHE	TERA		

Data of issue

Checked by 1.

Roll No. 23256526

23-DEO-376 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: APR-2025

(CBCS-CDOE)

Name : PRERNA SINGH : SATBIR SINGH Father's Name

: PINKI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	61	28		40AG	100	0	10	04.0	40.0
2	BUSINESS MC-302 ADVANCED FINANCIAL MANAGEMENT	59	25		40AG	100	A+	9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	67	21		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	61	25		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	65	21		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66	24		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	236.0
									24.0	236.0

OESS-15 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23256527

Regn. No. 23-DEO-377

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHUBHAM GOYAL

Father's Name : RAMGOPAL Mother's Name : ANITA GOYAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	65	30		40AG	100	0	10	04.0	40.0
	BUSINESS									
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	64	29		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS &	62	29		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	63	29		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	62	28		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	67	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	240.0
									24.0	240.0

RESULT: RE - TILL APR- 2027 IN: OESS-15

Data of issue

		(C	lerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			

Banne

Roll No. 23256528

Regn. No. 23-DEO-378

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : AMIT KUMAR
Father's Name : RADHESHYAM
Mother's Name : PREM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	62	30		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	62	30		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	62	30		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	66	30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	65	29		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	68	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**:	*		0650			26.0	240.0
									24.0	240.0

RESULT: RE - TILL APR- 2027 IN: OESS-15

Data of issue

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED :	JUN 12,2	2025				

Banne

Roll No. 23256529

Regn. No. 23-DEO-379

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : LOVISHA CHAWLA
Father's Name : SANJAY CHAWLA
Mother's Name : POONAM CHAWLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	64	30		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	64	30		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	60	30		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	62	30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	66	30		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	66	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	240.0
									24.0	240.0

RESULT: RE - TILL APR- 2027 IN: OESS-15

		(Cl	erk)		(Assistant	t)
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				



Data of issue			
Data of Issue			

Regn. No.

Roll No. 23256530

23-DEO-380

RESULT-cum-DETAILED MARKS CARD

## MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : NISHU BANSAL
Father's Name : LAXMAN BANSAL
Mother's Name : ANITA BANSAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	AB	AB	F	40AG	100	F	0	04.0	0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	28	12		40AG	100	Р	4	04.0	16.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	AB	AB	F	40AG	100	F	0	04.0	0
5	MC-309 ADVERTISING MANAGEMENT	37	16		40AG	100	В	6	04.0	24.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	63	29		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	**		0650			26.0	080.0
									12.0	80.0

RESULT: RE - TILL APR- 2027 IN: MC-301 MC-303 MC-304 OESS-15

DATED:	JUN 12,202	5		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue



Regn. No.

Roll No. 23256531

23-DEO-381

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : APR- 2025 (CBCS-CDOE)

Name : CHANCHAL KUMAR
Father's Name : NARESH KUMAR

Mother's Name : BABITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	65	30		40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	65	30		40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	64	29		40AG	100	0	10	04.0	40.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	62	30		40AG	100	0	10	04.0	40.0
5	MC-309 ADVERTISING MANAGEMENT	65	29		40AG	100	0	10	04.0	40.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	68	30		40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	240.0
									24.0	240.0

RESULT: RE - TILL APR- 2027 IN: OESS-15

Data of issue

		(Cle	rk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				

